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INSTRUCTIONS
1. This paper consists of 2 sections:

Section A — Theory and Section B — Mapwork.

2., Answer all questions.

3. Write neatly and legibly.

4, Refer to the attached Addendum when answering the questions.
5. This paper consists of 6 printed pages.

SECTION A

QUESTION 1
1.1 Provide the cotrect term/concept for each of the statements below.

[.1.1  Lines on a map joining places of equal pressure.

1.1.2 Time of the year when day and night are of equal length.

1.1.3 Force responsible for the deflection of air due to the rotation of the earth,

1.1.4  Winds that blow parallel to the isobars.

1.1.5  Unit of measurement for air pressure.

1.1.6  Warm ocean current that flows past the east coast of South Africa.

1.1 Direction of surface air movement around a LP cell in the southern hemisphere
1.1 A climatic condition in the Pacific ocean that causes an increase in temperature.
1.1.9  Force that determines the speed of wind.

1.1.10 Process by which land becomes infertile and cannot support vegetation,
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QUESTION 2

2.1  Referto Figure 1 showing global air circulation and answer the questions.

2.1.1 Name the circulatory cells labelled A and C.

2.1.2  Name the surface winds at cell labelled C

2.1.3  Mention the pressure belt found at 30°S.

2.1.4 Give 2 characteristics of the air found at 90°S.

2.1.5 Describe the weather conditions experienced at the 0° latitude.

QUESTION 3

3.1 Read the article in Figure 2 and answer the questions.

3.1.1 Whatis a drought?

3.1.2  Classify the type of drought discussed in the article.

3,1.3  State ONE effect that drought has on the economy of South Africa.

3.1.4 Suggest Three ways in which the government can help manage the negative
impact of droughts in South Africa, (3x2)

QUESTION 4

4.1 Study Figure 3 on F6hn winds and answer the questions.

4.1.1  Explain your understanding of a Féhn wind.

4,1.2 Name the side of the mountain where the air is descending at A.

4,1.3  State the type of lapse rate occurring at 3.

4.1.4 In which continent do Féhn winds occur?

4.1.5 What is “dewpoint temperature”.

4.1.6 Estimate the approximate height at which the dewpoint temperature is reached

in the diagram.
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QUESTION 5

5.1
5.1.1

5.1.2
5.1.3

514
5.1.5

5.1.6

Study the synoptic map in Figure 4 and answer the questions,

State the season represented by the synoptic weather map. Give 2 reasons to
support your answer,

Explain why Gough Island is experiencing overcast and cold conditions,
Describe the weather condition that the low pressure system over South
Aftica can result in.

What is the pressure reading at X?

State and explain the factor responsible for the difference in temperature
between Pretoria and Durban.

Describe the weather conditions at Bulawayo under the following headings:
Air temperature

Dew point temperature

Cloud cover

Wind direction

SECTION B — MAPSKILLS
QUESTION 6

6.1

6.1.1
6.1.2
6.1.3

6.1.4
6.1.5

6.1.6

Study the aerial photo (Figure 5 ) and answer the questions,

Identify the type of aerial photo shown. Give a reason for your answer.
State 2 disadvantages of using this type of aerial photo (answer to 6.1.1)
Feature A is natural vegetation and feature B is a row of trees. Differentiate
between the texture of feature A and B.

Feature C is a river. What does the lighter tone of the river suggest?
Feature D shows a linear uniform pattern of rows of trees, Identify what
this feature is.

Define the following:

6.1.6.1 Spatial resolution
6.1.6.2 Spectral resolution

6.1.7
6.1.8

When is the best time of the day to take an aerial photograph?
What are the benefits of using a satellite image to track the path of a tropical
storm? (2 answers)

TOTAL 100
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ADDENDUM
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" FIGURE 2

Agriculture minister has renewed h;)pe SA will survive drought

Johannesburg — Agriculture Minister Senzeni Zokwana says he has renewed hope that the
country will -survive the current drought due to recent significant rainfall.
The department says it's being estimated that the latest harvest will produce 7,4 million tons of
maize - thats a shortage of . 3,8 milion tons of the staple food.
The minister says he is extremely concerned about the food prlce increases linked to the
drought.

Zokwana says the recent heavy rain fall in much needed provinces have changed the country’s
bleak picture of maize supply. “Initially around November/December we may be compelled to-
import five and six million tons, but that has gone down because of the rains”. He says
the drought has hit the poor the hardest - somethmg they tried to avoid. '

Zokwana says government and stakeholders in the agnculture mdustry need to come up Wlth
new ideas how to change the current farming methods to avoid soil erosion and other drought-
related issues.

[Source: News24]
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FIGURE 3
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